Unit 5: Polynomials Lesson 5.1: Polynomial Multiplication

... continued
(=5)(4)=-20
—3x 4
=05 6x° —8x
=5 15x —-20

Add the terms inside the grid, simplifying where possible.

6x>—8x+ 15x — 20 = 6x° + 7Tx — 20

Write a final statement.

(—3x+4)(—2x—5)=6x"+Tx—20

Check Up

1. Multiply (—=x — 2y)(—3x — y) using grid multiplication without algebra tiles.

2 | Compare your answer.

1. Multiply (—x — 2y)(—=3x — y) using grid multiplication without algebra tiles.

—X —2y
—3x 3x’ 6xy
-y xy 2y?

(—x —2y)(=3x —y) = 3x’ + 6xy + xy + 2°
= 3x’ + Txy + 2y*
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